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SECTION A (30 marks)

Answer all questions in this section

For cach of the jtems (i) — (x) choose the correct answer among the given alternatives and
write its fetter beside the item number

(1) One Gigabyte (1GB) is cquivalent to
A 2"°MB
B 2"hvie
( 2"TB
D. 2'%sB

E hits

(1) The follow ing ¢in help to identify a hyperlink while browsing a webpage.

A\ Biack and underlined words

2 Bolded and stalicised words

C Quoted and underlined words & ‘
D Blue and underlined wards

f- Viaroon and underlined words

In) The reception desk at am argantsation is the same as. ... ..... on the computer.

". ','- l‘l“"'-'- (MR

B Desktan icor
{ Desktop windaw

D Deskiop lncator
E Des) i
(V) Inexcel, what sign begins when entermg a simple formula in the cell?

A\

3
D

&

\ 3 -

v) Which file system extension is used by default when saving a new document in excel?

vi) Which of the following is primarily an oulput device?

A ‘\1.)”!1’1"'
) sevbaord
i LAM

N




e

(vit).  The type of network topology whereby data flows in only one direction is known as a
Ring

Linear

Star

Bus

Wan

mUa®@

(viii)  One of the following actions will send an application window on the task bar

(1%) In IP addresses, maths. udsm ac .1z, represents
A Domain
B Webpape
C Orgamsation
D Computer name
E Website
(x) the following s not mmportant when searching for information on it
A Keywords specification
B [!s¢ of common words
( Operating sysliem user Knowledge
D. Search engine user knowledge
B Llse of upper case letters (10 marks)
Match the items or phrases in [1st A with the responses in list B by writing the letter of the

A Resize
B Close
| & Masimize

D. Minimize
I Save

correct response beside the item number
LIST A

1) nL”\I\. L» L.r

(11) Intranct

(1) Numlock

(iv) HTMI

(V) Multimedia

(vi) HByles

(vi) Pnmary Key

(viil) Pixel

(ix)  Personal Digital Asststant:

(x) Web browset

LIST B

A A kind of computer virus

B Uniquely identify records

C Largest WAN in the world

D. Used o open compuler cases

E Network within an organisation
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(n)
by  Dehine the following terms:
(1)  Dumb terminal

(i) Intelligent terminal

Differentiate telnet from FTP (File Tmnsfer Protocol)

(m) Hypertext Markup language (HTML)

Crive four (4) advantages of electronic word processor aver a type writer. (9 marks)

(c)
(2) Using your spreadsheet knowledge. indicate the data type that will be assigned n the
following entries
{1} December 14, 2008
{n) Totul'scores
(111) December 14,2008
(V) Average{A3E3)
b) Teslscores .
\ B ( D : :
N s [est 5l lests 1otal Average
2 . 4 3 !
' A 5E) 7
» Miriam 7 77 Jos
N Moses ol 70 T
ins Lh L SCot vorksheet al
| senerate a formula for calculat Lisl res Lor esch dent
. nerate a formula for calculating average for €ach eni
30 tify the cell referepce {or maxumum e
ennt he cell rence o) lea ) (8 marks)
(4] ‘Write down three (3) differences between a Web Drawse nd 4 searcn engine -
“xXamples 1n eacn cast
(b) {1 Define computer securily
i1y Outline two (2) megsures you would use Lo secu L computer bardware and data
(9 marks)
al N [ 1 SOTLWA!
- - b g S ulee : \
(b1  Mention and explain briefly four (4) funchions Oi anapt rting system. (9 marks)
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SECTION C (50 marks)
Answer two (2) questions only

(4) What is Information Communication Technology (ICT)

(b) The Advent of ICT in Tanzania has bronght both positive and negative tmpacts.

Clarify this statement by giving two (2) examples in each case, (10 marks)
With the sid of a clenrly labelled diagram, explain how a compuier system Works.
(10 marks)
(ay Give two (2) points to distinguish o database from a presentation

(b) Outline three (3) wuys you could use in creating a presentation (10 marks)
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